o
[N

<d @> (rad)
o
=
a1
T

(@)
I

-0.05 -4}

0.08---tHi-H-

-1 0 1 2

3

TP n (PCA to beamline)

< o cot(y) >
o
=
a1
T

1k 1
4

Bl

1

2 3

—=— DQM_V0001_R000000001__Global__cmssw__RECO
—e— DQM_V0001_R000000001__Global__mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global__mkFitNewALL__RECO

100

< 00, > (M)

RatioI
LN

23
e

o
o
T

1

' t * { IH )

-2

-1 0 1 2

3

TP n (PCA to beamline)

<opyp, > ()

Ratio

OV LLAs LARAN AR L

N..”;...:‘..

-1 0 1 2

3

TP n (PCA- to beamline)

100

E L
= 80pr { ARRRRRETRREER [ARRRERRLREED
A " :
o 60t R CEEC R prreeneedeees
e} 0y " N
v 40fH 1 R R Beeeeedeens
20 L 5 R
ki e
=20k -u-‘:- 10 EEL R r ----------
-40El ............. PR

il

1| |-

-1 0 1

2

3

TP n (PCA to beamline)



	Contents
	Page 1


